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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Write the answers to the folldwing
questions : {any seven) 1x7=7

oo Rz by e Tew ot

(i) Define thermodynamic pfocess.
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Contd.,



()

(iii)

 (iv) _

(v)

&

Give one example of isoenthalpic
process.

NGRS e:ﬁmelﬁawqﬁml -

Write the statement of 2nd law of

thermodynam1cs in terms of entropy.

oS Rl @ iR ghy HAPE

TR ot |

Why does the dis‘slociation of ;PCls

decreases in presence of Cl, ?
CL,3 TifEfs ‘Pl Rearem g0t = Reae

What is salt hydroljrsis ?

TR RY AR I B @

Define isochoric process,.

| Wﬂ@ﬁasﬁwvmwﬁzm

(vii)

What happens when phenol is heated
with zinc-dust ?

.%%Wwﬁﬁaﬁ*ﬁw’a%@gaﬁm%
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(viii) Write the [JUPAC name of pinacolone.

()

&)

(o)

(i)

foeeT IUPAC =t oty - -
What are ylides ?

T @R e

What happens. when bromobutane

- reacts with an active metal (Na) in dry

ether ?

&R 4y Na (7 SwREG wote wam 22lka
stfReere R e & =

NOj, AlCl;, C2H5NH2, FeCl,
(select odd one out)

NO3, AlCly, CHNH,, FeCl,

(R CTorHt AR =)
CHy, CH,, CH? and CH3 (select odd

one out)

CH?, CH,, CH? wi% CH, (Reafont
Gt A omwt iR F=M) -

Answer any four from the followmg

questions :
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State the zeroth law of i
thermodyhamics.

Wﬁﬂﬁﬁ@ﬂammﬁﬂn

Contd.

2x4=8




(b)

(c)

(@

(e)

(9)

What is common ion effect ?

e e e e

Describe different thermodynamic
processes.

OIS e [fen sriffs R

State the Le Chatelier’s principles.

=7l DICOERI 7@q 90t 5t |

What happens when sodium
benzoate is distilled with soda lime ?

SN (@EGEHDS 1916 BAlETes 2ifed SR
& 292 |

What is benzyne mechanism ?

e i e

How can you prepare 3-oxapentan€
(Diethyl ether) by the use of dry Ag;0

and alkyl halide ?
OIIACACT (OB Tw) wd AgaO

Sl G (2iRT qREe v W 480
e
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(h) Phenol is acidic, why ?
Res wifEs e

3. Answer any three of the following :
_ Sx3=15
wo1d fAcpic fofanr e Tes Tl

(a) How can you covert alcohols from

12 to 2% and then 22 to 12 alcohols ?

ABAFTT 2} (FTPYIN GoTFT’ 7 O (TSR
%3 AR 'S e ewe Al

(b) How can you distinguish among 1°, 2°
and 3°- alcohols by passing over
heated copper?

O O 499 eAEm IR T _wem 1°, 2° i
3°- geRe fodle T #iifFe

(c) Explain why vinyl chlorides are less
reactive whereas- benzyl chlorides are
more reactive than alkyl halides ?

GETREH  (TIRCO(E  fedigE  FRIBG N

it ==
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(d) What is Schotten-Baumann

(e)

(9)
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reaction ? How does phenol react

-with-acyl chloride and acetic

anhydride ?

o R Ry Rereer R e
TS ©F T GRRGET were B
SIGH j

For adiabatic process, prove that
Tv -1) = constant.

FEOITR elfeRl I A, e )
TV (r-1) _ &< | ‘

Discuss different factors that affect

lonisation of electrolyte ? .

For a reversible thermodynamic

Process show that dH = Tds + vdV

ST OISy e i3 A1z el

dH = TdS + yqy

G 6

(h) Standard enthalpy of combustion of
benzene is —3267-0kJmol ™.
Standard enthalpy of formation of
CO,(g) and H,;O(l) are
~393-5kJmol™" and
—285-83kJmol™! respectively.
Calculate the standard enthalpy of
formation of benzene.

@GR el was G
~3267-0kJmol™'. CO,(g) S

H,O(1)3 &9 5167 02l 2Ry
—393-5kJmol™! T
—285-83kJmol™! e @GS 2ol
SR G Sl 1 |

4. Answer any three : 10x3=30
Rigsizart fefabla Tea = ¢

(a) Describe the Joule-Thomson
experiment. Show that the -expansion
in this experiment is an isoenthalpic
process.

G- AT I 91 | @3 oS
TG 36 (et
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Write the follo
(any four)

iz oo R

Pinacolone reaction

(t)

(i)

(i) Ho

(i

3 (Sem-3

pinacol-

wing reactions -
24%4=10

GRIRE

BT i

Reimann—T iem

ann reaction

<z e &

-2z e

v) Rosenmund

uben—Hoesch reaction

reduction

araee [Ei

(v)

Clemmensen re

duction

e o

(vi) Cannizza

e FJie

i reactioﬁ of alkyl

What is ant S
halides? Expl

active heloa

reactionl. to pro

mixture.
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{kane undergoe

ro reaction

ain why an optically
S SNI

duce a racemic
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(g) HOW can you prepare ? 2x5=10

%‘Tﬁ ATS IR 2

® Methyl isocyanide from
chloromethane

FIRET ohat Rrazer SRS RIS
| (i) . Bipheny) from chlorobenzene
- IR F AT oty

LN Methy1 iodide from 2-oxobutane

%Wﬁwﬁaw

Ethana] from cq.
i e

2,4,6-t7 n
Pheno]

) salt of fétty acid -
"R TR oy B
(v)

ltr.ophenol from

Bk POV Wﬁw
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